

Kansas Corporation Commission Oil & Gas Conservation Division

1063009

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

TwpS. R
et from North / South Line of Section et from East / West Line of Section Nearest Outside Section Corner: SE SW Well #: Kelly Bushing: g Back Total Depth: t and Cemented at: Feet Collar Used? Yes No
et from
Nearest Outside Section Corner: SE SW Well #: Kelly Bushing: g Back Total Depth: t and Cemented at: Feet Collar Used? Yes No
Well #: Well #: Kelly Bushing: g Back Total Depth: t and Cemented at: Feet Collar Used? Yes \(\) No
Well #: Kelly Bushing: g Back Total Depth: Feet and Cemented at: Feet Collar Used?
Well #: Kelly Bushing: g Back Total Depth: t and Cemented at: Feet Collar Used?
Kelly Bushing: g Back Total Depth: t and Cemented at: Collar Used? Yes No
Kelly Bushing: g Back Total Depth: t and Cemented at: Collar Used? Yes No
Kelly Bushing: g Back Total Depth: t and Cemented at: Collar Used? Yes No
g Back Total Depth: Feet t and Cemented at: Feet Collar Used?
t and Cemented at: Feet Collar Used?
Collar Used? Yes No
ement circulated from: sx cmt.
nt Plan ne Reserve Pit)
ppm Fluid volume:bbls
hauled offsite:
License #:
TwpS. R
Permit #:
<i>r</i>

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY								
Letter of Confidentiality Received								
Date:								
Confidential Release Date:								
Wireline Log Received								
Geologist Report Received								
UIC Distribution								
ALT I III Approved by: Date:								

Side Two



Operator Name:			Lease	Name:			Well #:		
Sec Twp	S. R	East West	County	/:					
INSTRUCTIONS: Show time tool open and close recovery, and flow rates ine Logs surveyed. Atta	ed, flowing and shut- if gas to surface tes	in pressures, whether t, along with final char	shut-in pres	sure reach	ed static level,	hydrostatic press	sures, bottom h	ole tempe	erature, fluid
Drill Stem Tests Taken (Attach Additional Sh	eets)	Yes No		Log	Formation	n (Top), Depth an	d Datum	□ s	ample
Samples Sent to Geolog	,	☐ Yes ☐ No		Name			Тор	D	atum
Cores Taken Electric Log Run Electric Log Submitted (If no, Submit Copy)		Yes No Yes No							
List All E. Logs Run:									
		CASIN Report all strings se	G RECORD	New	Used	on, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Wei	ight	Setting Depth	Type of Cement	# Sacks Used		nd Percent
	Diffied	Set (III O.D.)	LDS.	/ I t.	Берш	Cement	Osed	Ac	luitives
		ADDITION	AL CEMENTI	NG / SQUE	EZE RECORD				
Purpose: —— Perforate —— Protect Casing —— Plug Back TD	Depth Top Bottom	Type of Cement	# Sacks	s Used		Type and F	Percent Additives		
Plug Off Zone									
Shots Per Foot	PERFORATIO Specify Fo	N RECORD - Bridge Plootage of Each Interval P	ugs Set/Type erforated			cture, Shot, Cement nount and Kind of Ma		d	Depth
TUBING RECORD:	Size:	Set At:	Packer A	At:	Liner Run:	Yes No			
Date of First, Resumed Pr	roduction, SWD or ENH	R. Producing Me	ethod:	ng Ga	as Lift	ther (Explain)			
Estimated Production Per 24 Hours	Oil B	bls. Gas	Mcf	Water	Bk	ols. (Gas-Oil Ratio		Gravity
DISPOSITION	N OF GAS:		METHOD OF				PRODUCTIO	ON INTERV	AL:
Vented Sold	Used on Lease	Open Hole	Perf.	Dually C (Submit AC		nmingled mit ACO-4)			
(If vented, Subm	nit ACO-18.)	Other (Specify)							



REMIT TO

Consolidated Oil Well Services, LLC Dept. 970 P.O. Box 4346 Houston, TX 77210-4346 Main Office P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676 FAX 620/431-0012

INVOICE				Invoice	#	243856
			 10/10/30,n/30	=========	Page	:===== 1
Invoice bacc.	00/51/2011	TOTILD.	10/10/30/11/30		rage	_

J. B. D. % P. J. BUCK P.O. BOX 68 SEDAN KS 67361 (620)725-3636 THOMPSON JBD 36-6 182000137 08/30/11 36-33S-10E KS

Part Number	Description		Qty	Unit Price	Total				
1126A	THICK SET CEME	ENT	140.00	18.3000	2562.00				
1107A	PHENOSEAL (M)	40# BAG)	80.00	1.2200	97.60				
1110A	KOL SEAL (50#	BAG)	700.00	.4400	308.00				
1123	CITY WATER		5900.00	.0156	92.04				
1118	PREMIUM GEL /	BENTONITE	150.00	.2000	30.00				
4404	4 1/2" RUBBER	PLUG	1.00	45.0000	45.00				
Sublet Performed	Description				Total				
9999-240	CASH DISCOUNT				-284.64				
9999-240	CASH DISCOUNT				-313.46				
Description			Hours	Unit Price	Total				
486 MIN. BULK DELI	VERY		1.00	330.00	330.00				
T-111 WATER TRANSPOR	T (CEMENT)		5.00	112.00	560.00				
RICKS 80 BBL VACUUM '	TRUCK (CEMENT)		5.00	100.00	500.00				
T-133 CEMENT PUMP			1.00	975.00	975.00				
T-133 EQUIPMENT MILE	AGE (ONE WAY)		50.00	4.00	200.00				
T-133 CASING FOOTAGE			1340.00	.21	281.40				

Amount Due 6241.22 if paid after 09/30/2011

=======	=======			=======		====	============
Parts:	3134.64	Freight:	.00	Tax:	234.16	AR	5617.10
Labor:	.00	Misc:	.00	Total:	5617.10		
Sublt:	-598.10	Supplies:	.00	Change:	.00		
=======						====	=======================================

Signed	Date

243851

CONSOLIDATED ON Well Sprvinge, LLC

CEMENT FIELD TICKET AND TREATMENT REPORT

ustomer						
USTOLISE	JBD, LS	State, County	Chautauqua , Kansas	Cement Type	CLASS	Δ.
ustomer Acct #	000, 20	Section	36	Excess (%)	30	- A
/ell No.	Thompson #JBD 36-6	TWP	33S	Density	13.8	
ailing Address	THOMPSON #JBD 30-0	RGE	10E		13.8	
ity & State				Water Required	 	
	****	Formation	bville	Yeild	1.75	
p Code		Hole Size	6 3/4	Slurry Weight		1:
ontact		Hole Depth	1350	Slurry Volume	245 cu	ft
mail		Casing Size	4 1/2INCH, J-55 (10.5 LBS)	Displacement		21.
ell		Casing Depth	1340	Displacement PSI	 	5
ffice					 	
		Drill Pipe	0	MIX PSI	ļ	
ispatch Location	BARTLESVILLE	Tubing		Rate		
ode	Cement Pump Charges and Mileage	Quantity	Unit	Price per Unit		
5401	CEMENT PUMP (2 HOUR MAX)	1	2 HRS MAX.	\$975.00	\$	975.0
5406	EQUIPMENT MILEAGE (ONE-WAY)	50	/MI PER UNIT	\$4.00	\$	200.0
5407	MIN. BULK DELIVERY (WITHIN 50 MILES)	1	/LOAD	\$330.00	\$	330.
0	MIN. DOEN DELIVERY (VITTIIN 30 MILES)	 		\$0.00		
0			0		\$	
			0	\$0.00	\$	-
0			0	\$0.00	\$	-
0			0	\$0.00	\$	
0			0	\$0.00	\$	
5402	FOOTAGE	1,340	PER FOOT	0.21	\$	281.4
				QUIPMENT TOTAL	\$	1,786.4
	Cement, Chemicals and Water					
1126A	THICK SET CEMENT (8LB OWC 4% GEL 2% CAL. CLORI	DE) 140	POUNDS	\$18.30	\$	2,562.0
1107A		80	POUNDS			
	PHENOSEAL KOLONO			\$1.22	\$	97.0
1110A	KOL SEAL (50 # SK)	700	50 POUND SACK	\$0.44	\$	308.0
1123	CITY WATER (PER 1000 GAL)	5,900	1000 GAL	\$0.02	\$	92.0
1118	PREMIUM GEL/BENTONITE (100#)	150	POUNDS	\$0.20	\$	30.0
0			0	\$0.00	\$	
0			0	\$0.00	\$	
0			0	\$0.00	\$	~
0			0	\$0.00	\$	-
0			0	\$0.00	\$	-
0			0	\$0.00	\$	
<u>_</u>	L		<u> </u>	CHEMICAL TOTAL		3,089.6
	Inc		T	CHEMICAL TOTAL	1.9	3,009.0
	Water Transport			<u> </u>	L	
5501C	WATER TRANSPORT (CEMENT)	5	/HR FROM CAMP	\$112.00	\$	560.0
5502C	80 BBL VACUUM TRUCK (CEMENT)	5	/HR FROM CAMP	\$100.00	\$	500.0
0			0	\$0.00	\$	-
			T	RANSPORT TOTAL	\$	1,060.0
	Cement Floating Equipment (TAXABLE)	T	1			
	Cement Basket		**************************************	ang to the contract of	10-2-57	
0	Control (Desiret	<u> </u>	0	\$0.00	\$	·
U	Captrolizor	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		\$0.00	1.9	
	Centralizer					
0			0	\$0.00	\$	-
	Float Shoe	MALE A		in the same of the	<u> 1868 - 1</u>	'4'
0			0	\$0.00	\$	-
	Float Collars					
0			0	\$0.00	\$	-
	Guide Shoes					
0		** 	0	\$0.00	\$	
•	Baffle and Flapper Plates			<u></u>	dign -	7
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	LEATING DIM FROMUCE FIRES			00.00	\$	
^			0			
0			0	\$0.00	1.3	m 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	Packer Shoes				""	
0	Packer Shoes			\$0.00	\$	-
0			0	\$0.00	\$	
£	Packer Shoes DV Tools				\$	-
0	Packer Shoes		0	\$0.00	\$	
0	Packer Shoes DV Tools		0	\$0.00	\$ \$	<u>-</u>
0	Packer Shoes DV Tools Ball Valves, Swedges, Clamps, Misc.		0 0	\$0.00 \$0.00	\$ \$	
0	Packer Shoes DV Tools Ball Valves, Swedges, Clamps, Misc. Plugs and Ball Sealers		0 0	\$0.00 \$0.00	\$ \$	<u>-</u>
0 0	Packer Shoes DV Tools Ball Valves, Swedges, Clamps, Misc. Plugs and Ball Sealers 4 1/2 INCH RUBBER PLUG		0 0	\$0.00 \$0.00 \$0.00	\$ \$	
0 0 0 4404	Packer Shoes DV Tools Ball Valves, Swedges, Clamps, Misc. Plugs and Ball Sealers		0 0 0 0 0 EACH	\$0.00 \$0.00 \$0.00 \$45.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$	
0 0	Packer Shoes DV Tools Ball Valves, Swedges, Clamps, Misc. Plugs and Ball Sealers 4 1/2 INCH RUBBER PLUG		0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	\$0.00 \$0.00 \$0.00 \$45.00 \$0.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$	45.0
0 0 0 4404	Packer Shoes DV Tools Ball Valves, Swedges, Clamps, Misc. Plugs and Ball Sealers 4 1/2 INCH RUBBER PLUG Downhole Tools		0 0 0 0 0 EACH	\$0.00 \$0.00 \$0.00 \$45.00 \$0.00 QUIPMENT TOTAL	\$ \$ \$ \$	45.0
0 0 0 4404 0	Packer Shoes DV Tools Ball Valves, Swedges, Clamps, Misc. Plugs and Ball Sealers 4 1/2 INCH RUBBER PLUG Downhole Tools DRIVER NAME	1	0 0 0 EACH 0 CEMENT FLOATING E	\$0.00 \$0.00 \$0.00 \$45.00 \$0.00 QUIPMENT TOTAL SUB TOTAL	\$ \$ \$ \$ \$ \$	45.0 45.0 5.981.0
0 0 0 4404 0	Packer Shoes DV Tools Ball Valves, Swedges, Clamps, Misc. Plugs and Ball Sealers 4 1/2 INCH RUBBER PLUG Downhole Tools DRIVER NAME Williams, Chancey		0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	\$0.00 \$0.00 \$0.00 \$45.00 \$0.00 QUIPMENT TOTAL SUB TOTAL	\$ \$ \$ \$ \$ \$	45.0 45.0 5.981.0
0 0 0 4404 0 6 T133	Packer Shoes DV Tools Ball Valves, Swedges, Clamps, Misc. Plugs and Ball Sealers 4 1/2 INCH RUBBER PLUG Downhole Tools DRIVER NAME Williams, Chancey Scullawl, Bryan		0 0 0 EACH 0 CEMENT FLOATING E	\$0.00 \$0.00 \$0.00 \$45.00 \$0.00 QUIPMENT TOTAL SUB TOTAL (-DISCOUNT) SALES TAX	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	45.0 45.0 5,981.0 598.7
0 0 4404 0 6 T133 486	Packer Shoes DV Tools Ball Valves, Swedges, Clamps, Misc. Plugs and Ball Sealers 4 1/2 INCH RUBBER PLUG Downhole Tools DRIVER NAME Williams, Chancey		0 0 0 EACH 0 CEMENT FLOATING E	\$0.00 \$0.00 \$0.00 \$45.00 \$0.00 QUIPMENT TOTAL SUB TOTAL	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$	45.0 45.0 5,981.0 598.1
0 0 0 4404 0	Packer Shoes DV Tools Ball Valves, Swedges, Clamps, Misc. Plugs and Ball Sealers 4 1/2 INCH RUBBER PLUG Downhole Tools DRIVER NAME Williams, Chancey Scullawl, Bryan		0 0 0 EACH 0 CEMENT FLOATING E	\$0.00 \$0.00 \$0.00 \$45.00 \$0.00 QUIPMENT TOTAL SUB TOTAL (-DISCOUNT) SALES TAX	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	45.0 45.0 5,981.0 598.1
0 0 4404 0 6 T133 486	Packer Shoes DV Tools Ball Valves, Swedges, Clamps, Misc. Plugs and Ball Sealers 4 1/2 INCH RUBBER PLUG Downhole Tools DRIVER NAME Williams, Chancey Scullawl, Bryan	1	0 0 0 EACH 0 CEMENT FLOATING E	\$0.00 \$0.00 \$0.00 \$45.00 \$0.00 QUIPMENT TOTAL SUB TOTAL (-DISCOUNT) SALES TAX	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	45.0 45.0 5,981.0 598.1
0 0 4404 0 6 T133 486	Packer Shoes DV Tools Ball Valves, Swedges, Clamps, Misc. Plugs and Ball Sealers 4 1/2 INCH RUBBER PLUG Downhole Tools DRIVER NAME Williams, Chancey Scullawl, Bryan		0 0 0 EACH 0 CEMENT FLOATING E	\$0.00 \$0.00 \$0.00 \$45.00 \$0.00 QUIPMENT TOTAL SUB TOTAL (-DISCOUNT) SALES TAX	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	45.0 45.0 5.981.0
0 0 0 4404 0 6 T133 486	Packer Shoes DV Tools Ball Valves, Swedges, Clamps, Misc. Plugs and Ball Sealers 4 1/2 INCH RUBBER PLUG Downhole Tools DRIVER NAME Williams, Chancey Scullawl, Bryan		0 0 0 EACH 0 CEMENT FLOATING E	\$0.00 \$0.00 \$0.00 \$45.00 \$0.00 QUIPMENT TOTAL SUB TOTAL (-DISCOUNT) SALES TAX	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	45.0 45.0 5,981.0 598.1
0 0 4404 0 8 1133 486	Packer Shoes DV Tools Ball Valves, Swedges, Clamps, Misc. Plugs and Ball Sealers 4 1/2 INCH RUBBER PLUG Downhole Tools DRIVER NAME Williams, Chancey Scullawl, Bryan Damall, Robert	1 1	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	\$0.00 \$0.00 \$0.00 \$45.00 \$0.00 QUIPMENT TOTAL SUB TOTAL (-DISCOUNT) SALES TAX	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	45. 45. 5,981. 598.



CEMENT FIELD TICKET AND TREATMENT REPORT

Customer	JBD, LS	State, County	Chautauqua, Kansas	Cement Type	CLASS A
Customer Acct #	0	Section	36	Excess (%)	30
Well No.	Thompson #JBD 36-6	TWP	33S	Density	13.8
Mailing Address	0	RGE	10E	Water Required	0
City & State	0	Formation	bville	Yeild	1.75
Zip Code	0	Hole Size	6 3/4	Slurry Weight	13.8
Contact	0	Hole Depth	1350	Slurry Volume	245 cuft
Email	0	Casing Size	4 1/2INCH, J-55 (10.5 LBS	Displacement	21.37
Cell	0	Casing Depth	1340	Displacement PSI	550
Office	0	Drill Pipe	0	MIX PSI	250
Dispatch Location	BARTLESVILLE	Tubing	0	Rate	4.5
REMARKS					

REMARKS				9		
Pumped 3 sks gel ah	ead est. circulation	, pumped 140 sks thick	set cement flushed pum	and lines displaced plug t	to bottom set shoe shut	in.
Circulated cement to	surface.					
						,
Salety 1	MT6					
Coop						
Chancy						
Rob						
Brean 5						
		~~				

ACKARMAN HARDWARE and LUMBER CO 160 EAST MAIN STREET SEDAN, KS 67361

PHONE: (620) 725-3103

THANKS FOR YOUR BUSINESS!!

Cust No 253636	Job No	Purchase Order	Reference THOMPSON	Terms NET 10TH	Clerk SC	Date 8/23/11	Time 8:20
Sold To		EVELOPMENT	Ship To:			DOC#	204897
P. 0	. BOX 68		4		TERM#553		ICATE**
SEDA	N	KS 67361					******
				TAX : 0	001 KANSAS SALES TAX		

LN#	SHIPPED	ORDERED	UM	SKU	DESCRIPTION ·	SUGG	UNITS	PRICE/PER	EXTENSION
1	10		EA		PORTLAND CEMENT 92.6#		10	10.95 /EA	109.50 *
				_					
				141					
				9					

** AMOUNT CHARGED TO STORE ACCOUNT ** 120.23 TAXABLE 109.50
NON-TAXABLE 0.00
(RANDY BROWN) SUBTOTAL 109.50

(RANDY BROWN

)

SUBTOTAL

109.50

TAX AMOUNT TOTAL AMOUNT 120.23

10.73

XManual Signature
Received By

Conservation Division Finney State Office Building 130 S. Market, Rm. 2078 Wichita, KS 67202-3802



Phone: 316-337-6200 Fax: 316-337-6211 http://kcc.ks.gov/

Sam Brownback, Governor

Mark Sievers, Chairman Ward Loyd, Commissioner Thomas E. Wright, Commissioner

September 09, 2011

P.J. Buck Jones & Buck Development, a General Partnership PO BOX 68 SEDAN, KS 67361-0068

Re: ACO1

API 15-019-27061-00-00 Thompson JBD 36-6 NE/4 Sec.36-33S-10E Chautauqua County, Kansas

Dear Production Department:

We are herewith requesting that the Well Completion Form ACO-1 and attached information for the subject well be held confidential for a period of two years.

Should you have any questions or need additional information regarding subject well, please contact our office.

Respectfully, P.J. Buck